
«Strich»-Operatoren vertauschen - Lösungsvorschlag  
 
 
 
 
     170 + 130 + 120  = 300 + 120 = 420 

     524 + 256 – 149  = 780 – 149 = 631 

     111 – 11 + 483 = 100 + 483 = 583 

     111 + 289 + 2  = 400 + 2 = 402 

     100 – 80 + 108 = 20 + 108 = 128 

     218 + 82 – 241 = 300 – 241 = 59 

     384 – 24 + 77 = 360 + 77 = 437 

     965 – 165 – 120  = 800 – 120 = 680 

     295 – 195 + 46 = 100 + 46 = 146 

     998 – 88 + 59 = 910 + 59 = 969 

     11 + 119 + 217 = 130 + 217 = 347 

     292 + 8 – 141 = 300 – 141 = 159 

     45 + 155 – 82 = 200 – 82 = 118 

     819 – 119 + 28 = 700 + 28 = 728 

     168 + 332 – 79 = 500 – 79 = 421 

     338 + 62 – 397 = 400 – 397 = 3 

     210 + 41   = 251 

 


